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•

: all coefficients are real
, by conjugate not -1hm , 1- ti is a roof.

fx- a- ti))(x- Citta il)
= (1×-1)-1 Ii) ((x-D - Ii)
= (✗- 1)2- (Iif

= ✗2-2×+1 -1¥
= ✗2- 2×+5-4

so 43+2×4 ax +b) = (x
- A) 1×2-2✗ -1¥ )

✗
'
: 2 := -2- A

A- = - 4

-

'

.

The roots are -4 ,
I - Ii ,

titi

1×+4) ( ✗2-2×+5-4)
= ✗3-2×2 + f- ✗ + 4×2 - 8×-1-5

= ✗3-12×2- ¥ ✗ 1- 5

a =
- ¥1

,

b = 5

#





§ ¥ ¥ I

h=¥g 9 a

¥:#

.

Area of rectangles ¥
= § few) -1 ¥ (-111-1%1) -1%1-1-11-14¥))) -1

. . .
-1 § / -111+41%1)

= Eg ( f (1) + -111-1¥) t flit 21¥) -1 . . . -1 flit 41¥))

= § ( Éo -111 + ¥1M))
= ¥4 -111-1 hn ) h : h= ¥

Area of rectangles is an underestimate of the area of A

Hence ¥
.

-111-1 nhlh < A
.



5

É tcltnhlh = ⇐ flit¥n)¥
n= I

§ ¥4
,

flit Eon)
IET -111-1 ¥4

= § É=
,
21-011-+8%+1

= § ¥
,

to lit In)
'

-11

= Is (1%5+13)'t
5+4,5+5) -14

= É .CH ED't 51¥)
= £, ( it

'

+¥5 -1 4¥) -14 = 1¥ ) -14

= Is /%) -14 = 9¥,

= ¥,

""

*
1 Ith

⇒n→n



h (a) =L-13=5

ghktg (5)
= ÷ = ¥

1. 4 =

7- ✗ - 1.4 = ✗+ I

6x = 2.4

✗ = 0.4

2×+6=0

✗ =
- bz

-
: K =

- bz

f is undefined at ✗ =
- bz



2×+4%+7
y=tz or ✗= --1 ×tb÷

,

: Ry = C- is , E) Ulta ;D

Dg = C- • ,-1141-1,9

b= - I a- ¥ -1-0
a -11

at - I

i. possible values : b= - I a-- I

f-
' C- 4)

= -11-4)
= ,b -1-8



S
, ,
= ¥ (40-125)
= 325s

To = 25 ( r)
"

--40

r? § r= 1.05361

Go = ☐fI
= 319.798

Total time : 319.798+325-1250

= 894.798

I 895s



Total dist : 30135)
= 1050

Avg speed = 154%798
= 1.1734

I 1.17 m/s

8 mins = 480s 7 325s

480 - 325 = 155s

155 I 25 =
6.2

: swimming away



= f sci 5✗ - I dx

=

tansy- ✗ TO

4✗ 6✗

A- 13=4✗

At B = 6✗

=/ f-☒os5x - cos×) DX
A = 5 ✗

= Job - { cos5×-1 { cos✗ DX B= ✗

= 1- s÷" + ¥7 ?
= - sm, + sm.bz



= f ? ,÷ dx

= [ In / in ✗ I ] ?
= In / In b) - In ( In a)

= in l¥a )
*

¥✗= de" = Hu - 1)

K÷¥d✗
= 1%-1%-5) du

= I f % du

= { (%-) -1C

= - ¥144 + e

=
-&¥gt + c #



0.5-1 Jp-19--1

dptq =
0-5 ⇒ 9--0.5 -Lp

Let ✗ be random variable denoting score on spinner

E- (X) = 0-2-10.6-1 3pt4p -159
= 0-81-7 p -15g
= 3.3 - 3p

E- (F) = 0.2-11.2-1 91st Ibp -1259

= 1.4-125 p -125g

= 13.9 - 25 p

Var (X) = 13.9 -25ps - (3-3--3105
= 13-9-25 p

- ( 10.89 - 19.8 p+9p
' )

= - 9p2 - 5. Ip -13-01

⇒ - 9p2 - 5.Lp -13.01=1.61

F- ¥ or - Ig rej :p> o

:-[ 1×1=3-3-31 ;)
= 2-t

☒



A B R C D

A BR

A

¥÷
.

= 83160
# A

A

AAAA-BB-pRR-pc.IQ
4 ! 3C

,
2 ! = 144

AAAAA_
- -
- - - -

¥ =
1260

prob = :& = %



Because he want to test if the lifespan is greater than 20000

Ho : null hypothesis
1-1 , : Alternate hypothesis

µ : population mean life span
of tyres

to : all = 20000

H
,
: µ >

20000

I = 9jf- + 20 s? Éq ( 38.76 - -9¥)
= 20 . 188

= 0 . 754955



Ho : µ : 20000

H
,
i µ > 20000

Under Ho
, by CLT

☒~N( to , "tÉ÷ ) approx .

Test statistic : 2- = r N Ion)

=%÷ÉÑ¥⇒
= I. 53

From G. C. p-value : 0.06300
70.05

Do not rej Ho .

15 is not large enough for the lifespan of

tyres to be approximate to normal distribution using

Central Limit Theorem





Do join our H2 Math classes

☺



Let ✗ be random variable
, denoting the mass of the seat in kg

Let mean mass of the seats be µ and standard deviation be a

✗ ~ Nlm , 6)

☒( ☒ 22. 1) = 0.8 p(✗ < 1.95) = 0.15

plz < 195¥) = 0.15plz i"¥)=o8

1.95¥ = - 1.036421¥ = 0.8416

2. 1--0.8416 • +µ
I -95=-1.03646 + µ

6=0. 07987 µ = 2. 0327

I 0.0799 I 2.03 kg #
Shown

let L be random variable denoting the mass of the legs in kg
LNN (12,0-021)

PIL > 1.4) = 0.30853

Expected # of legs : 154.2

I 154 legs



✗ n N ( 2.0327
,
0.0799°)

L r N / 1.2 , 0.02
'

)
✗ + 4-112-1 ↳ n N (5.6327, 0.0870862)

p (5.66×-14-112-11325.7)
= 0-4265

I 0.427 #

0.91 ✗ ~ Nfl -8497, 0.072714

0.91×-14+4-113 ~ N ( 5.4497, 0.08054)

P ( 0.91×+1 , -112-113<5 -b)
= 0.96899

I 0-969
#



Let It be random variable denoting the diameter of the holes in the seats

H n N ( 31, 0.47
Let D be random variable denoting the diameter of the legs

Dr N [ 30.7
,
0.5)

H - D ~ N ( o - 3
,
o -5)

P ( o < H - D < 0 .8)

= 0 - 567

i. Req prob = 0.5673
= 0 . 18237

I 0 . 182
#



He can select I light fitting in every 5 light fitting such that

the pnob of each light fitting is equal and constant throughout the

selection process .

÷

↳ use gc 1- var test

I=3

: p : Hoo

= 0 . 03

let F be v.v denting # of faulty fittings
Fr B (100,0-03)

PIF =3) = 0-22747

Expected # of days = 34.1

I 34 days



Event of each heating element found faulty is independent of another heating
element .

Prob of a heating element found faulty is constant throughout the sample

✗~ BC so , 0.02)

Pl If✗ f 4) = 0.7789
I 0.779

☒



✗n BLA
,
0.02)

Plx >3) = 1- Pl ✗ c- 3)
= 0.076854

Let Y be random variable deuohn more than 3 faulty elements out of 5 days

You B (5,0-076854)

FLY 72 ) =L-PIYE 1)
= 0-050499

= 0.0505#

Let W be v.v
, denoting # of faulty elements in

5.days
WNBC 400, 0.02)

p (wt8) = 0.5925
I 0.593

#


